

City of Warwick

Purchasing Division 3275 Post Road Warwick, Rhode Island 02886 Tel (401) 738-2013 Fax (401) 737-2364

Bid Minutes Tuesday, May 21, 2024

Bid2025-035 Automotive Wet Batteries

Bid2025-040 City-Wide Street Striping

Bid2025-046 Class A Body Repair & Painting

Bid2025-047 Vehicle Body Repair & Painting

Location: The meeting was held at in Meeting Room 2

Present: Francis Gomez, Purchasing Agent

Frances Gray, Bids Specialist

Representatives: Hank Glode – Raps Auto Supply (NAPA) Alejandro Callejas – Tasca Collision Center

All bids have been properly advertised. A Certification & Warrant Form must be included in each bid or the bid will not be accepted. Vendors are free to view all bids once they are opened. All bids will go to the departments for their review and recommendation.

The next council meetings are June 17, 2024 and July 15, 2024 at Warwick City Hall. The City Council meeting begins at 7:00 P.M. The Finance Committee meeting will be held at 5:00 P.M. The 5:00 P.M. meeting is when vendors are given the opportunity to speak.

The Finance Committee meeting and City Council meeting can also be viewed LIVE on the City of Warwick's YouTube Channel by searching @City of Warwick 1931.

Respectfully Submitted,

Original Signature on File

Francis M. Gomez Purchasing Agent

Bid2025-035 Automotive Wet Batteries

• 2 Bid(s) Received

Action Auto Parts 795 Main Street Providence, RI 02904

Raps Auto Supply (NAPA) 3666 West Shore Rd. Warwick, RI 02886

VENDOR NAME: Action Auto Parts

Item #	Group #	Est. Qty.	Cranking Performance Amps at 0	Reserve Capacity Minutes at 0	Unit Cost
1	8D	10	1100	430	\$ 199.45
2	22	6	460	65	\$ 9.55
3	22F	6	460	65	\$ 19.45
4	24	15	500	85	\$ 37.50
5	24F	20	500	85	\$ 78.54
6	27F	24	620	95	\$ 96.51
7	27	6	620	95	\$ 99.25
8_	27-DCM	10	520	165	\$ 101.23
9	31T	6	950	220	\$ 109.40
10	31S	6	950	220	\$ 110.90
11	55	5	500	80	\$ 14.55
12	58R	24	600	90	\$ <u>2</u> 5.40
13	65	,16	900	520	\$ 112.45
14	75	6	630	90	\$ 29.25
15	4D	10	1000	390	\$ 169.80
16	9L-300 Tractor	10	300	40	\$ 48.70
17	78	6	630	100	\$ 59.22
18	48	10	730	120	\$ 99.20
19	MTP486	10	625	120	\$ 125.37
20	548	10	625	120	\$ 99.20

All batteries must have no less than a 36 month warranty.

Delivery Mon - Sat calendar days ARO

VENDOR NAME: iRaps Suto Sepply (NAMA)

Item #	Group #	Est. Qty.	Cranking Performance Amps at 0	Reserve Capacity Minutes at 0	Unit Cost
1	8D	10	1100	430	\$ 165.79
2	22	6_	460	65	\$ 10.45
3	22F	6	460	65	\$ 24.30
4	24	15	500	85	\$ 51.15
5	24F	20	500	85	\$ 57.70
6	27F	24	620	95	\$ 66.40
7	27	6	620	95	\$ 101.71
8	27-DCM	10	520	165	\$ 80.70
9	31T	6	950	220	\$ 124-99
10	31S	6	950	220	\$ 124.99
·11	55	5	500	80	\$ 15.63
12	58R	24	600	90	\$ 89.59
13	65	16	900	520	\$ 83.02
14	75	6	630	90	\$ 81.51
15	4D	10	1000	390	\$ 145.70
16	9L-300 Tractor	10	300	40	\$ 45.53
17	78	6	630	100	\$ 81-51
18	48	10	730	120	\$ 101.99
19	MTP486	10	625	120	\$ 85.25
20	548	10	625	120	\$ 11.49

All batteries must have no less than a 36 month warranty.

Delivery _____ calendar days ARO

Bid2025-040 City-Wide Street Striping

• 2 Bid(s) Received

Safety Marking LLC 255 Hancock Ave. Bridgeport, CT 06605

K5 Corporation 9 Rockview Way Rockland, MA 02370

(PRICING SHEET MAY NOT BE CONFIDENTIAL)

Bid2025-040 City-Wide Street Striping

VENDOR NAME:	Safety Marking LLC	'

<u>Item</u>	<u>Description</u>	Distance	Unit of Measure	Unit Cost	Total Cost
1	4" Reflectorized Pigment Pavement Markings/White for Street Edges	250,000	LF	\$.079	\$ 19,750.00
2	4" Reflectorized Pigment Pavement Markings/Yellow, for Street Center Line	350,000	LF	\$.079	\$ 27,650.00
3	4" Reflectorized Pigment Pavement Markings/SkipWhite	35,000	LF	\$.079	\$ 2,765.00
4	12" White Thermoplastic Crosswalk & Stop Bars	1,500	LF	\$ 3.00	\$ 4,500.00
		!			
5	6' Thermoplastic Characters (A character refers to a single letter or number)	50	EA	\$ 20.00	\$ 1,000.00
6	4' Thermoplastic Figures (Running Child)	2	EA	\$ 20.00	\$ 40.00
7	6' Thermoplastic Figures (Running Child)	2	EA	\$ 20.00	\$ 40.00
	·				
8	4" (18' Long) Parking Stalls to Include Layout	1,600	LF	\$.50	\$ 800.00
				· -	
9	Handicap Parking Markings (Per ADA Regs.)	10	EA	\$ 23.00	\$ 230.00
				Bid Total	\$ 56,775.00

Acknowledgement of Addendum (if applicable)

	Addendum Number	Signature of Bidden	•
	None		_
			_
COMPANY NAI	ME: K5 Corporation		-
COMPANY ADI	ORESS: 9 Rockview Way		_
COMPANY ADI	ORESS:Rockland, MA 023	370	_
BIDDER'S SIGN	ATURE:		
BIDDER'S NAM	E (PRINT): Kathy DeLong		
TITLE: Presden		781-982-9229	
EMAIL ADDRE	SS: bids@k5corporation.	com	*
*Please include your	email address. Future bids	will be emailed, unless of	otherwise noted.
The Agent/Finance Directhe above party to paunless another paym	cCITY OF WARWICK, act ator/Mayor, accepts the above ty the bid price upon completent schedule is contained in substantive and procedural,	re bid and hereby enters in the project or rection of the project or rectifications. All te	nto a contract with eipt of the goods erms of the
DATE:	2025-040	Purchasing Agent	

(PRICING SHEET MAY NOT BE CONFIDENTIAL)

Bid2025-040 City-Wide Street Striping

VENDOR NAME:		

Item #	<u>Description</u>	Distance	Unit of Measure	<u>Unit Cost</u>	Total Cost
1	4" Reflectorized Pigment Pavement Markings/White for Street Edges	250,000	LF	\$ 0.085	\$ 21,250.00
2	4" Reflectorized Pigment Pavement Markings/Yellow, for Street Center Line	350,000	LF	\$ 0.08	\$ 28,000.00
3	4" Reflectorized Pigment Pavement Markings/SkipWhite	35,000	LF	\$ 0.08	\$ 2,800.00
4	12" White Thermoplastic Crosswalk & Stop Bars	1,500	LF	\$ 3.00	\$ 4,500.00
5	6' Thermoplastic Characters (A character refers to a single letter or number)	50	EA	\$ 5.00	\$ 250.00
6	4' Thermoplastic Figures (Running Child)	2	EA	\$ 10.00	\$ 20.00
7	6' Thermoplastic Figures (Running Child)	2	EA	\$ 10.00	\$ 20.00
8	4" (18' Long) Parking Stalls to Include Layout	1,600	LF	\$ 0.45	\$ 720.00
9	Handicap Parking Markings (Per ADA Regs.)	10	EA	\$ 25.00	\$ 250.00
		•		Bid Total	\$ 57,810.00

Bid2025-046 Class A Body Repair & Painting

• 3 Bid(s) Received

Tasca Collision Center 33 Sharpe Dr. Cranston, RI 02920

Affordable Auto Body 96 Evergreen Ave. Warwick, RI 02888

West Warwick Auto Body 93 Tiogue Ave, West Warwick, RI 02893

Bid2025-046 Class A Body Repair & Painting

VENDORNAME: Tasca Collision Co	enter
Body Repair & Painting	\Box 2
Hourly Body Labor Rate for SUV's (Ford PI Utility/Explorer)	s_/
Hourly Paint Labor Rate for SUV's (Ford PI Utility/Explorer)	s 72
Non- Insurance Miscellaneous Repairs & Pai	i <u>nt</u>
Paint /Repair Front & Rear Bumpers on Ford utility (Explorer)	<u> </u>
Complete Paint Job from Black & White to Silver, Grey, Blue On Ford PI Utility/Explorer	s 72
Rust Repairs, Floors, Fenders, Rockers, and Hinges	<u>s_72</u>

Bid2025-046 Class A Body Repair & Painting

Body Repair & Painting

Hourly Body Labor Rate for SUV's (Ford PI Utility/Explorer)

Hourly Paint Labor Rate for SUV's (Ford PI Utility/Explorer)

Non-Insurance Miscellaneous Repairs & Paint

Paint /Repair Front & Rear Bumpers on Ford utility (Explorer)

\$ 500.00 \$ 5000.00

Complete Paint Job from Black & White to Silver, Grey, Blue On Ford PI Utility/Explorer

Rust Repairs, Floors, Fenders, Rockers, and Hinges

Bid2025-046 Class A Body Repair & Painting

VENDOR NAME:	West Warwick Auto Body	
	Body Repair & Painting	
	body Repull to 1 minung	
Hourly Body Labor Rate	te for SUV's (Ford PI Utility/Explorer)	\$ 50.00
Hourly Paint Labor Rate	te for SUV's (Ford PI Utility/Explorer)	\$ 50 . 00
,		
Non-	Insurance Miscellaneous Repairs & Pa	<u>int</u>
Paint /Repair Front & R	Rear Bumpers on Ford utility (Explorer)	\$_50/00/hr
Complete Paint Job from On Ford PI Utility/Explo	m Black & White to Silver, Grey, Blue lorer	\$ 50.00/hr
J 1		<u></u>
		50 00/h
Rust Repairs, Floors, Fe	enders, Rockers, and Hinges	\$_50.00/hr

Bid2025-047 Vehicle Body Repair & Painting

• 3 Bid(s) Received

Bigelow Auto Body, Inc. d/b/a A1 Custom Auto Body 2244 Pawtucket Ave. East Providence, RI 02914

Gentile Auto Body 101 Commercial Way East Providence, RI 02914

West Warwick Auto Body 93 Tiogue Ave, West Warwick, RI 02893

•	Acknowledgement of Ad	dendum (if applicable)	
	Addendum Number	Signature of Bidder	
			_
COMPANY NA	ME: <u>Al Custom</u>	Auto Body	
	DRESS: 224 PAW	,	
	DRESS: <u>† ast 'Pro</u> j		
BIDDER'S SIGN	IATURE:		
BIDDER'S NAM	IE (PRINT): <u>Dennis</u>	Bigelow	
TITLE: OWNer/	president TEL. NO	.: <u>401, 438. </u>	
EMAIL ADDRE	ss: <u>Aonebig@aol.</u>	<u>ram</u>	*
*Please include you	r-email address. Future bid	s will be emailed, unless o	therwise noted.
II. AWARD AND	CONTRACT:		
Agent/Finance Directive above party to	e CITY OF WARWICK, accordingly according to the about the bid price upon completent schedule is contained in substantive and procedural,	we bid and hereby enters in letion of the project or recont the specifications. All te	nto a contract with eipt of the goods erms of the
	,		
DATE:Bid	2025-047	Purchasing Agent	

Bid2025-047 Vehicle Body Repair & Painting

VENDOR NAME:

Hourly Body Labor Rate for sedans (Ford Taurus Dodge Charger) \$\\$52/hr

Hourly Paint Labor Rate for sedans (Ford Taurus Dodge Charger) \$ まなんれて

Hourly Body Labor Rate for SUV's (Ford PI Utility/Explorer) \$\$\\$52/hr\$

Hourly Paint Labor Rate for SUV's (Ford PI Utility/Explorer) \$#52/hV

Non-Insurance Miscellaneous Repairs & Paint

Paint / Repair Front & Rear bumpers Ford Sedans / Dodge Charger

Paint / Repair Front & Rear Bumpers on Ford utility (Explorer)

Paint Roof & Four doors from white to black Sedans

Paint Roof & Four doors from white to black Suv's

Paint Roof & Four doors from white to black Suv's

Complete Paint Job from Black & White to Silver, Grey, Blue
On Ford Sedans

Complete Paint Job from Black & White to Silver, Grey, Blue
On Ford SUV's

Rust Repair, Floors, Fenders, Rockers and Hinges

\$\frac{\psi}{25} \frac{\hr}{\hr}\$

St52/\hr

Bid2025-047 Vehicle Body Repair & Painting

VENDOR NAME:	Gentale'S	Auto &	sodn.		
_			-		
1 D - 1 T - t D - 4 C-	1 00 1 m	D. I. Ol.		. 1	

151

Non-Insurance Miscellaneous Repairs & Paint

Paint / Repair Front & Rear bumpers Ford Sedans / Dodge Charger \$ 100 hr

Paint / Repair Front & Rear Bumpers on Ford utility (Explorer) \$ 100 hr

Paint Roof & Four doors from white to black Sedans \$ 300 per panel

Complete Paint Job from Black & White to Silver, Grey, Blue On Ford Sedans \$ 300 per panel

Complete Paint Job from Black & White to Silver, Grey, Blue On Ford Sulver Sulver, Grey, Blue Sulver, Grey, Blue On Ford Sulver Sulver, Grey, Blue Sulver, Grey, Grey, Grey, Grey, Grey, Grey, Grey, Gre

Bid2025-047 Vehicle Body Repair & Painting

VENDOR NAME: West Warwick Auto Body	
Hourly Body Labor Rate for sedans (Ford Taurus Dodge Charger)	\$ <u>50.00</u>
Hourly Paint Labor Rate for sedans (Ford Taurus Dodge Charger)	\$ 50.00
Hourly Body Labor Rate for SUV's (Ford PI Utility/Explorer)	\$ 50.00
Hourly Paint Labor Rate for SUV's (Ford PI Utility/Explorer)	\$_ 50.00
Non-Insurance Miscellaneous Repairs	& Paint
Paint/ Repair Front & Rear bumpers Ford Sedans/ Dodge Charger	\$50.00/hr
Paint /Repair Front & Rear Bumpers on Ford utility (Explorer)	\$_50.00/hr
Paint Roof &Four doors from white to black Sedans	\$50.00/hr
Paint Roof &Four doors from white to black Suv's	\$ 50.00/hr
Complete Paint Job from Black & White to Silver, Grey, Blue On Ford Sedans	\$50.00/hr
Complete Paint Job from Black & White to Silver, Grey, Blue On Ford SUV's	\$50.00/hr

Rust Repair, Floors, Fenders, Rockers and Hinges

\$ 50.00/hr

Francis M. Gomez Purchasing Agent



Frank J. Picozzi Mayor

City of Warwick

Purchasing Division 3275 Post Road Warwick, Rhode island 02886 Tel (401)738-2013 Fax (401) 737-2364

MEMORANDUM

To: Peder Schaefer, Finance Director

From: Francis M. Gomez, Purchasing Agent

Date: May 21, 2024

Re: Agenda for Tuesday, May 21, 2024

The following bid openings will be held on the above-mentioned date in Meeting Room 2 starting at 11:00 am.

Bid2025-035 Automotive Wet Batteries

Bid2025-040 City-Wide Street Striping

Bid2025-046 Class A Body Repair & Painting

Bid2025-047 Vehicle Body Repair & Painting



Date: May 21, 2024

Bid2025-035 Automotive Wet Batteries

Bid2025-040 City-Wide Street Striping

Bid2025-046 Class A Body Repair & Painting

Bid2025-047 Vehicle Body Repair & Painting

Name (please print neatly)	Company/Email Address
Hank Glode - RAPS Auto S Alejandro Callejas - To Francis Gomez - PA Frances Gray - Bids	supply (MAPA)
Alejandro Callejas - To	asca Collision Center
Francis Gomez - PA	Con
Frances Gray - Bids	Con
U	